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case of unfair means.

Q1. Describe the need for switching and define a switch. Compute the delay‘g of é%n.cgit switched

network, datagram network and virtual circuit network with diagram's, What is Clos criteria
_ il .

and why is it required?

Q2 (a). Discuss in detail the working of synchronous and'étrqfi%
(TDM). ‘

8))

7

Q2 (b). In figure 1, computer A sends a mcssag{i:a- . ;'mi;uter D via LANI, router R1, and

LAN2. A process with port addre

tining at computer A and a process with port

B
A

address j is running at compt J’ED- Show the contents of packets and frames at the
”w*'r\_\ wﬁ% . R .
er.for each hop. (2)

transport layer and data Iin}{I
ARD

) w LAN 1 LANZ Sender

Figure 1
Q3 (a). Given the dataword 1010011110 and the divisor 10111,

a. Show the generation of the codeword at the sender site.

b. Show the checking of the codeword at the receiver site (assume no error). (2+1=3)

Q3 (b). Discuss the working of Checksum method with an example. )
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Q4 (a). Discuss in detail the working of Go-back-N ARQ and Selective repeat ARQ protocols.
- And compare these also. @

Q4 (b). Define piggybacking and its usefulness. 1)

Q5 (a). Discuss and compare the working of ALOHA and Slotted ALOHA protocols using their

frame transmission, flow chart, vulnerable time, thrbughput etc. w3

i
ERS

Q5 (b). A common channel has to be accessed by multiple users. How can it be achi

Controlled Access method?




